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1 Uwpwupubp
33000000 (HEnnpuwip b wwwnyjwuwnmwiniebp
33660000  |Uuyn$hu Uphp N10 &< winuh 150 3000 20
33671125 |Udppnpun; 0.03N20 c< wintth 600 4200 7
33621740 |Udinnhwhtu 10dg N30 c< wnuh 600 600 1
33622000 Unpbuwihup h-n wdw. 0.18% N10 c< wnuh 1700 3400 2
33620000 |Upphwin; 100dq N10 c< wintth 3300 3300 1
33611130 [Uwpnwhu 0.1% 1mlI N10 c< winuh 1000 5000 S
33650000 [Ughdwl 500dq N3 c< winuh 1650 3300 2
33651111 [Udnpuhghihtu 500dg N20 c< winuth 800 7200 9
33651111 [Udnpuhghiht 250dq N10 c< winih 300 600 2
33651100 [Unwqubiuinpt 375dq N20 c< winuh 4200 8400 2
33651100 [Unigubuwnht 625dq N14 c< winih 2800 5600 2
33651100 [Udwh $hiyn 500dq N10 c< winih 400 800 2
33622200 (Udwphjwu 10dq N30 c< winih 3600 3600 1
33660000 |Uuwghu 50% 2d; N10 c< wnth 400 2000 S
33611350 |Uuynpphuwppent wdw. 5% 2d; N10 c< wninuth 350 350 1
33621100  [Uuwhphu Yupnhn 300dq N20 < winuth 800 800 1
33671000 [US838 n/thnph 200dq N20 c< wnnuh 2600 10400 4
33651100 [Ughppndhghu 250dg N6 c< winuh 900 1800 2
33651110 [Uniqukuwnhu n/p 156.250q/54; 1004] < wnith | 2600 5200 2
33611341 |Upqwntitnphd yhwn.D3 104; < wnnuth 2800 2800 1
33670000 |UyJw Uwphu dwulwlwu 10d] < wnnuth 1400 1400 1
33631282 |PhLwnwnhu htionng. Undhl 200dqg N14 < wnnuth 2200 2200 1
33621720  [Phunwpnin| 5dg N30 c< wntth 990 2970 3
33613000  |Phuwlnnfy dndhly 10dg N10 c< winuth 600 1800 3
33671000 |Ppndhbipuhti 8UgN50 o< wnuh | 500 600 3
33671000  |Ppnufunjhunht 0g. c< wnup | ogop | 3000 5
33691138  |Syniynqui 5% 2504 c< winuh 500 2000 4
33675000 |"Hhitinpng 1% 1.0 N10 c< wnith 300 1500 5
33621600  |Hhpwgny 1% 10 N10 c< winuh 350 700 2
33621600  |Hhpwqny 1% 54 N10 c< wnith 500 500 1




33621380 | hqopuhti 0.250q N40 c< wnith 280 840 3
33631310  |hlynphiwl 50ug N100 c< wnith 440 1320 3
33691121  |M&Qwphu 150uq N1 c< wnith 900 1800 2
33631310  |[hynpbuwl wiy. 75dq 34 N5 c< wnuh 750 3000 4
33660000 | "Hhljuwight 250g/0] 2u] N1 c< wnuh | 1600 1600 1
33611000  |Hhuppuwnhy 30u; c< wnuh | 7800 7800 1
33691100  |hwqnihtn Uppw 0.1q N10 c< wnith 250 750 3
33631310  |hlynu dndhly 100dg N10 &< wnuh 800 4000 5
33631311 | Hynu dndhly 504dg N10 c< wnith 334 1670 5
33611170 | nwnwytphuh h/p 40dq N20 e< wnuh | 1200 1200 1
33611170 | Hnwnwytiphuh h/p 20dg/d) 26 N10 c< wnuwh | 2000 | 10000 5
33671000 |“nywinp dnd oy. 1004 &< wnuh 1800 10800 6
33622000 |"Hhpnunnu 10U0g N56 c< wnuh | 5600 5600 1
33610000 | Hnibuwqwl op-l &< wnuh | 6333 6333 1
33650000 |Gtk 400uq N1 c< wnuh | 1500 3000 2
33631287 |2phpwnbily 10dg N7 &< wnuh | 1330 1330 1
33670000  |Eniphiht 244g/4] 5.0 N10 c< wnith 375 1875 5
33621520  |Euwjwuyphy -<L N20 &< wnith 480 1920 4
33621520  |Euwjwuyphi 20dq N20 c< winuh 500 1500 3
33620000 |Euwuy -H 10dq N20 &< wnuh | 1300 2600 2
33621000 |Eubiughwili $npunk 300dg N30 c< wnuwh | 10350| 10350 1
33621000 |Eubughwib wduy.50; N5 &< wnuwh | 13500 13500 1
33642230 |Enyshpnpu n/h 50dg N100 c< wnuh | 5250 5250 1
33642230 |f@hpngn| 5ug N50 &< wnuh | 4500 4500 1
33631290  |Ppniypndki 0.2 N50 c< winuh 500 1500 3
33691129  |Pnuin Skp |-p 5001 e< wnith 600 1200 2
33630000 |Pupnubkwnughti punip c< wnih 900 900 1
33622000  |Lhqhnuphy 5uq N24 e< wnuh | 1200 2400 2
33620000  |Lhqhtnuphy 10uq N30 c< wnuh | 2400 2400 1
33642230 |L-phpnpupt 100uq N100 &< wnuh | 2000 2000 1
33611000 [Lhutipu N16 c< wnuh | 4800 9600 2
33611000 |Lhubipu $npinti N28 &< wnuwh | 21000| 21000 1
33611200 |Lnwhipwdhn 2dq N40 c< winuh 900 1800 2
33611200  |Lnpwinwnht 10dg N10 &< wnith 650 1300 2
33620000 [Lhnwint 1000q4; c< wnuh | 6800 6800 1
33620000  |Ynpyuwin; 254] c< winuh 180 360 2
33621690  |Ywpytinhin| 12.50q N40 c< wnuh | 1600 1600 1
33621690  |Ywpytinhin| 250q N40 c< wnuh | 1620 1620 1
33621690  |Ywpybinhin| 6.250q N40 c< winuh 600 600 1
33620000  |Ywpnhybun NHnwpn-40 N50 c< wnuh | 3000 6000 2
33621510  |Ywuwnnwphi 500q N24 c< winuh 360 1800 5
33621510  |Ywuwunnwphy 250q N40 c< winuh 240 1200 5




33620000  |Ywpnhndwqupy 150dq N100 c< wnuwh | 5000 | 15000 3
33660000  |Ybtinnuwy 50dq N25 c< wnuph | 3250 3250 1
33660000 |Ytinnuwy nbunwpn 150uq N20 c< wnuh | 4800 4800 1
33620000  |Ynpnuwpnu 200ug N30 c< wnuh | 3000 3000 1
33620000 |Ynpnhwdht wiw. 25% 24 N10 €< wnuh | 1200 2400 2
IAPUNT ~UTINPINIUN pGUgnuwit wuw. T0% TU[
33621340 [N10 c< wnup | 400 800 2
33661117  |[Ywwndwfuninp hwuniyN50 c< wnith 120 240 2
33620000 [Ynulnp YUnp 2.5dq N30 &< wnih | 2100 2100 1
33611420 |Ywighnuwh gyniyntiwwn 10% 54 N10 e< wnith 1600 1600 1
33620000 |Ynluppopupjwqu wduy.50uq 24 N10 &< wnuh 1000 1000 1
33691175 |4jhnu D 100dq N10 e< wnuh | 3600 3600 1
33611420  |Ywigh D3 $npnti 5000a/400ME N120 &< wnuh (12000 12000 1
33620000  |Ywipunnu $npink n/h100dg N30 e< wnuh | 5400 5400 1
33621320  |<wyytih hwundy 10 N10 &< wnuh 800 800 1
33631220 |<hnpnynpunhgnu punip 1% 15q e< wnith 580 1160 2
33621700 |Ulwnwpniny 50uq N30 e< wintth 640 640 1
33631286 |Uhyntwqn) b-p 2% 15q &< wnuh 900 1800 2
33611341 |Uwquth B6N50 c< wnuh | 2800 8400 3
33691145 |Uwgqubighnuwih unybwin 25% 5ml N10 &< wnuh 1000 2000 2
33620000 |Unjqudw 20) N5 c< wnuh | 3000 6000 2
33620000 |Ubquunnt 1%14] N10 &< wnuh | 2400 2400 1
33611170 | Ung-pujus 40dq N100 c< wnwh | 2000 2000 1
33691136 |Lwuwiphnuwh pinppn |- 0.9% 2504 &< wnuh 400 2000 5
33691136 [Lwuwphnuwh pinphn - 0.9% 54 N10 c< winuh 500 5000 10
33620000 | Uphwpnqihghiphu 0.5 N40 &< wnuh 700 3500 5
33691100 | Undnluwyht wduy. 2% 24 N10 c< winuh 700 1400 2
33610000 [Lwphub N120 &< wnuph | 3600 3600 1
33661200 | ULhdtuhy 2q thngh N30 c< wnuwh 119500 19500 1
33620000 |Mpbuwnwu 5dg/5 N30 &< wnuph | 5500 5500 1
33620000 | Mptuwwphnud 5dg N30 c< wnuwh | 7800 | 23400 3
33620000 |MpLuwnwnhnut 100g N30 &< wnup | 7800 | 23400 3
33661122  |NMwpwgtitnwing 0.50q N10 c< wnith 80 1200 15
33661000 |Mbpubu n/h N40 &< wnuh | 4800 4800 1
33661000 |Mbputu $npnti N20 c< wnuh | 5600 5600 1
33620000 |Nhupwntl 200q N14 c< wnuh | 2380 2380 1
33691100  |Uwwquwignt 20N10 c< wnuh | 4000 4000 1
33691210  |[Uwpn$uiinhu S 14 0.0025% N10 c< wnuh | 1200 1200 1
33671113 |Uwipnunwing 2 N24 c< winuh 350 1750 5
33671113 |Uwjpnunwdng 0. c< wnuh | 2240 | 11200 5
33620000 |Undwghtuw wdw. 5000g N5 c< wnuh - (19000| 19000 1
33620000  |[Uny$nlwdpnljwihu wdwy. 10% 2mi N10 c< wnuh | 1050 2100 2




33611000 |Udtlyunw N30 c< wnuh | 5000 5000 1
33620000 |Ywihnn| 0.06gN10 e< wnintth 120 600 5
33611341  |Yhluwunf 10dg/1dN10 c< wintth 8700 8700 1
33621730 [dbpwuwjwih) 80ug N30 c< wnnuth 1800 1800 1
33611341 |Yhwnwdhu P Yndytipu npwdb N20 c< wintth 1000 2000 2
33611341  |dpwinwdpt P hwdwihp 2] N10 c< wnuh 3200 3200 1
33631310 |Unpnwpbi punip 20.0 e< nnuh | 4400 | 4400 1
33620000 |dbuut) Hnibd widw. 600LU/24; N10 c< wnuwh 1 32000| 32000 1
33620000 |Ywnywpnhu 204; c< wnuh 1900 1900 1
33661200 |dnipnnu n/h 100dg N10 c< wnuh | 3000 3000 1
33621420 (UWwnpwuwnht 10dg N30 < winwh 3600 3600 1
33691100 |Shdwwighu N20 c< winuth 180 900 5
33691100 [Swybtigh| 1dg N20 < wnuth 1700 1700 1
33691100 |Swybigh] wdw 0.2% 2ml c< wnuh 4000 4000 1
33660000 |Spbuwwy n/h 400dg N20 c< wnh | 5200 | 5200 1
33651118 [Sb$winphwpunu 1q c< wnnuth 290 4350 15
33651134  [Shwpn$inpuwghu 500uq N10 c< wnnuth 1000 2000 2
33651134  [Shuypn$inpuwght 0.3% |- 10 d| wsph Ywehy c< winuth 1400 1400 1
33650000 |Yhyndtuwl opuriwhuhl 0,1 % 10U} wsph Yuphy c< wnintth 3900 3900 1
33650000 |[Uhnnuwuhl 2,5 % 10U] wsph Yuphy c< wnintth 6000 6000 1
33610000 [Lywdwwnb| 20ug N28 c< wnnuth 4200 4200 1
33611100 |Odkwpwan| n/w 20dg N30 c< wnuh 1575 1575 1
33650000 |Oujwnkbipu 5004; c< wnuh 7400 7400 1
33611120  |[Duwdnupnhtu 20ug N20 &< wnith 800 1600 2
33611120  |Duwdnuipnhtu 40dg N20 c< wnuh | 1800 1800 1
33621590 | dnipnubtidhn 400ug N50 c< winuth 500 500 1
33620000 |dbbpnud Ll 02.1004; c< wintth 5600 5600 1
33620000 |dbhghnunbiug 0.4 N14 c< wintth 11200 11200 1
33671000 [Udppnpun| 0p. 15dq/54) 1004; c< wnnuth 2400 7200 3
33631000 |[d|nighuwp punip 15q < winwh 3400 3400 1
33620000 |dbipnud (LY 100dg N30 c< wnntth 7200 7200 1
33621590  |dnipnubidhn wdwy. 1% 24d) N10 c< wintth 300 600 2
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